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u=( - 550) / 50
log Vo =-0,35y~U:.]?
logLo=-0,35Uy~Us7q?
10gVo =—0,35[Uy~Uss7
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log(V ' m)=-0,02
m=0,98
Threshold
t=0,03
V¢=0,01
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Lio=L /0,84
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uy=(A — 550) / 5
log Vo =-0,35uy~U..]?
log 0=-0,35uy-u ]2
Adaptation: A, =570
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©  Jog(lL m)=-0,07
L m=0,84
Threshold
t=0,03
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uy=(\ — 550) / 50
log * o=—0,35[u)-u ]2
log o=-0,35[uy-u. - ]?
IogLo=—0,35[J)\—u5m]2
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m=0,46
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o=" 10,46 log o =-0,35[uy-u. - ]?
los =15y 1oy =0y Go Adaptation: A =
1,0~ :
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o log(
m=0,46
Threshold
0, t=0,03
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=(Cot Lg)2 logo=-0,35[u-u. - ]?
logL o =-0,35u\~Us7q?
Adaptation: A =545

/ L maximum

1 - - log(\V] - m)=-0,07
m=0,84
Threshold
t4=0,03

. Clo, Mo, odata uy=(A — 550) / 50
=( ot o2 log 0=-0,35[-u ]2
lo=C.1019 log©o=-0,35[u)-u. - ]?
log ¢=-0,35u)-u ]2
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) u,=(A — 550) / 50
=( ot Lo)2 log - 0=-0,35y-u ]2
lo=C.10,46 log o =-0,35\-u--]?
lo» Gk '=or Goy Lo logLo =_0,35[J)\—U570]2
10 570G Adaptation: A (=

maximum

m=0,46
Threshold
1a=0,03
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